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(a5 oy o bub) )lfsglﬁfgﬁ
i (1 laz/ }i
next, later ... adj, adv /ba’d/ d=3
Y 11 /ba?daz/ )| a=3
5 T Canaads [ sl = fbridan] O3 9

adj wlgs # /bidar/ ylaw



va

to wake (up)..(ixab/ Olg= ) E’i::i Jlaw
BB s SOSIR 2E] oé&igg -
correct, right. ... /do'rost/ Cu.ojg |
to make; to cook...... . O3 ;5 —d )3

VEREETARY, coimimmmibmmssiosiin Jdiruz/ 39 533
last night.............. o disabl t_au}ag' d
restaurant............../Jresturan/ Ol)giw J
SUPPET... o [SAMY rlﬁa

; .
to become............../[SaV/ g = [SOdan] O I

S
last, past...........adj, n/gozaste/ 4.‘:'..‘.&:.&5

PLOPEIY ... /mall Jle

lunch........... O /nahar/ )lab G

BTSN, B0 [ham/ r,.m
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O Persian Writing (Nasta?liq @.,.la."i.m;)

PISE P ST BY SUT -

O Past Stem
He went

He was

) €xercise 1. Write the stems:

P PR\ Jia
o)
03,5
Onls=
RV

S OLS « ALl Stiu o

C8) «—— U - Ry

29 -—— U - 039.3
aidsaS Ji

ol

,,,,, u.))s.ﬁ Y

Ol ¥

oxnss f

ﬁwhich pair of present and past stems is correct?
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4l slagy3 § Jol oS )b L) AY

O Simple Past sobs <" adlu ga:.i.f‘u:\g O
4538 gladwlis + 4s 38 S = solw gas S

las 38 L_SL;ML;:J "Wy el — o — ‘6._ =

Al Egumh& W T p

I went [raftam/ P.Eé} - po )
You went [raftii  (G8) < G—
He went [raft/ ) e m e & s
We went [raftim/ m.:a} -~ M-
You went [raftid] 38y <« — 9 _
They went [raftand] 3S538) - X~ |
€xercise 2. Change into the simple past:
(Oael) 215 4y o551 5l Lo .
(03,95) also L b laasy .Y
(&awlss) KB TIVR] - o
(0292) pol> oS 50 gligmidls
(VEYRELY PP VEL TRV,
(OLlg= (o s9) 7 CHEPEIV Y FRIV-ACY PR 4

b5 ssiws 53 “Glhe ol (5l Cannl (slosku Jsles “a3lu 5a%s IS "5



AY 435 39y G Cuid )3

SCuwl oyl s i L 01540

® © ® © © O

The simple past describes an action or state that occurred in
the past; it may have occurred once or repeatedly.

Aihy Luil 595 0 Leds 0385 LuiT 59,5 O hai o

€xercise 3. Change into the simple post:

(Oo9) Ll 590 SO 0L gmisls A
(ool ) e dallSa 595 0 L Y
(03,55) 0945 9 Lo 0,50 ,l95 51 ¥
(Owle=>) Caelw diz s b s F
(Oad Hlaw) Sl 51 (S o9 L O
(03,5) IS Ol Hlaw 5l am ST 5

“LUhich pair of present and past tenses is correct?

® ©© ® O © O

O i + Positive verbs JEOLS « (HadaD



a3l a3 § Jol oS )b o) AY

Lilgzi g yd ¢ /naraftam/ F::'s;; -~ By 4 S
Lol (g Jald g Soalid dald (50l (p el 1]

€xercise 4. Change into the negative simple past:

(opld Cawy) ) olgs GLBT .\
(O2e]) IS 43 g2iils slagils Y
(OXlgz yw,2) LxsT o O Cawgd LY
(03,5 Camwyd) .. . 0948 i Lo
(03,5 Sx)) | | Y- 20) [PY) P
(O292) 42 9 ju0 i S) 5 G 5o F

/0> his sorlw sGbi das P17 GO

® © ®© ©®© © O

O dla "The property of" indicates possession: = workbook

This is my book. st o QLS o0
This book is mine. Cawl po Jlo OUS 00

LI XU B ET |

! do| Jb Al QT
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Exercise 5. Write the other form of possession:

LI P 3.-"50 0.3.| A

Sl jlael 250 E;ASL-& el X
TS as epl ¥

awle Jlo 3BT ¢l
] N EJLO 0‘)9&‘..») U‘-'-'
 Cannl s g Jlo el 0T

ﬁl.Uhich pair of possessive forms is correct?
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¥
0
¥

e

€xercise 1. Put o or t Correct the false ones:
A plaw 03 Casliw 59 00 dosl (
by ol 4y b 3l s 59,95 ol (
Sl o Tl 2929 Sl (
Sadold IS sl duw Al j1 Sy «ol (
35S Caww 33 (518 joio g3 L 9l ndiy o (

MYRVC P yTey fl.a"bs,a.n‘ia._g.) S| (

) A
) .Y
) Y
) ¥
) .0
)



4 lagwy3 § J5l SUS. ) L) A$

Qéxercise 2. Which answer is correct?

Cadads Caelw O O Saeluw O Caddy Caslw O .
P L oKlg= 4y O Kidls a0 .Y
Celw 4w O Caelw 9o O celw SO
NS 8 O olKidls yo Klgs o0 .F

s> KL Lo M b My, Lo 0
A8y wlSa O Ldwles O Ldiles wyo0 .7

9 €xercise 3. Which pair of antonyms is correct?
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5. ()

Exercise 1. Answer in complete sentences:
Tad Hlaw Lz Celw Jo>]

Td ) xS O jlaw 5l s

Toulld ‘sw)l."i u:;).) \5_;

Tl ,.,.»3\54.? ol 5l o

T35 Caw yd 'oUb S i

Cogs yoh> T fL:a .

YW o % -t =
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Exercise 2. €xplain what you did yesterday. Use the text as a

general guide but make the necessary chages.

“ €xercise 3. Write the words which you hear:
L, . . i o)

iy s
oBjleGe
[&2.1:93 u;-..wj.b s@‘é] [F}Juﬁ] S — f;&"sﬁ
9 2 is reduced to P= after consonants:

[.'o)b PSL‘«S] - .‘o)lé I"; ols

“ |y is pronounced /o/ after consonants, and /ro/ after vowels:

[95 Loaiis coin (g1GST < Iy Lo eIy o) Lo o]y QLS

:Ls)l't>.| L’Jl> = 05lw L—SAL::K)J LQ,.:T 9 Lo-ﬁ: L—SLQMLJJQ
[0B5 Bgll < ) T [pud) Lod] < i) Lo
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